MWON (PRI FFe fFqas (F#1 2’7)

ATV I 2l 5
©Ife43 3¢ .09.2038; INAg > TBI; 3 doo

01. = vfEre SR e [Jreig tafEr?

a) O *[(¥d 92579  b) OB *(Hd qLETol
¢) &biee! d) swiferesl  ans. B

Solution R AR RES

5feTe dife wAfaqadeaie | aa= 9% WIS @ Sfere dife o7 oo i @
THEd FfUe sEl 4 U 9 fGene avfre fem, swEe ganz
FEAMA S WG] FaET Fel e FAT

4 TS ©B =g

BT AMS WG @ NTEEG Gk AP, WEA-SIEDA S
AGPREATLAE & @ S

14 Aifere qaze 7™ ¢ fGwem sfere Afere #faafde ¢ smEed
el #e F4 | 98 Ay @ f[remea cvrae g 9%
5fere S femevare RFe wrel 4959 T | @I (A0S, ATHEE,

<t Toia
02. ‘Book Post’ 93 ifFeiis & (0?2

2) T b) (A TIF

¢) ToAfafy d) ET4Tg ans. B
‘Book Post’ @ “lifseIfad &9 =1 “(AFT
TR | Sy, g ewged faeis =g

Aboriginal Sifmaet | Loggerhaeads | WI-Fwgl 799
Anonymous ST Manager CIEERES
Bribe g9/ Oxygen TG
CLFHP
Blocade EEICIE Overrule qifee =41
Curtail e F41 | Post Graduate b T AT
Civil Society | A1 5% Periodical ST
Dead lock EIRIGE]] Pensive ﬁ'ﬂﬁ
Equation ST Quack 2ol
03. “C*RIRAT (I SEl (ATF AMS *372
a) &+ b) TQ
c) GIE d) &% ans. C

Solution: R BMSREACIE I e v B PRSI Er
SEFSA, FAE, A, EE, vmmﬁ
N, v, srﬁz', vi@ai\%, A7, cﬁtvf, Ef?*t,
ST, @R, e, eww, @, vifq, fFer,
g, S, @, SWET | Sy,

fef «ms | @, TP, (46T, ST, [@TOIX, 5%, (O, (G,
BT e, T=ioffa, s, S |
fores =3 A, (T2, FBR, TEAI |
04. @ FNCA FPUAN ATSIF0 A8 L I
T4 TP OICF (P AN qCE1?
a) T4 b) e
C) ORIFY d) 92912 ans. A

@ FNCT GUEIFH TP hd ol
SR LY ATE, OCE 57 STAPT 90T | (T3 O
€ OIF = SF-SNF, (ARTS ¢ T = (AHrS-
FE19 | BET,
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fas s sz (FNiE) 91 fem wnd FedrRne «twa eE v
AWE (@ NPT =W, O faw A 9t | fae ST
ST #WG AT+ =% | (e foa Frerd st
= faam=, rarem e = olar, foq wmem sEE =
(e, We wwa FNEEd = <o, fa (fem) sitaa
TarE = faemt et d SR = Aigeqe!, Tenn |

TeAFE 4ot e (Ao (e e <) faef@ = (A

S @ I TY G2 @A A9 Atad 9 4ol SeraaE
T ©NF OLFF AR CMA | @3 WAF FOCAT =

) G, 2rAT a4l Ao = FrRMEree |

Fq2 @ ST PA ARESTEE (F07 & 7 R0,

ST (1 0 AT OIS qeq12 AP 90 | (@I (T =
&1 (Fow) =R @ T |

05. 5 @E ofee ooz Snigae?
2) O +F =ZMo  b) 5 + 9B = b*1%
¢) 99 + = = gl d) G2 9 ans. A
Solution : JRIE IR IOk T i el O
TR o *H (ofd 2 ONE ofae o5y I |
(T TS + 7 = T (916), ToT + &1 = FTT
(FFTE®) AR AL + = JAF (ADIT) |
06. JeE©ER IS 9 (=7 oF @16 FAB?
a) 5f6 b) Soft
)G d) 53> ans. D
GIC T AT Ml T @ffia
QRET OEE A I20FT OGS, IS T (]
BF 36| IEIF - e A S|
read ¢ e’ (FrFRd-202)) 2EE wAUCo,
o 91 (2w o2 Yot | O e oFE 9%e o
31 (v o faea Torew it | ey, AEa ol
MBS @RI & dqCFEa W4 49 A
sifére faear qay seae (=€, faam), et
fqafs ite =¥ W EIE Y T W0 o
©1-2 3fe 31 (AT |
07. ‘i bW AgrRIGT o Fre
a) e AFEFS 78
b) ey e aifes
c) S wAfeEe
d) foeE sHifere Gfe ans. B
Solution: JEGERESIRCIEIFE IS I SPGB RO
Tfe | Ty, F o fog qrigrms

TF 5 = Wfo% [FeTel TEG BFYI = (= T+
mmam:?qﬁ ﬂ?"ﬂﬂ:W
e 1GT = 574 T4/ oW 5d A g = SILd eI
T 5 = G5y fermarte = o @ife
08. AR FIF T (2 AN IMRT F(02
a) TIFLHI b) Y=l 9C71F 419
c) FCHA 9T d)oFE @ ans. D



OO CIche < (T (1 T (2)3 ©fF TR

(6T (ZEB GF9Y B 90T |
TR (O1F)s | @5 SIORa (T 9071R STeb Z0ACT |
Tl A AN | GTET Jod 9 99 A0, DG 6 G071, G
(©9) WL GET A0 4T |
Fra Joe (Faa, | @ smdd orm e PR e
) e THZ (A P ST |
09. &F N0 Ca?
a) EwEA b) wifzger
¢) Caf*3y d) Toife ans. D
Solution: EEarERGIREIEICERCGisi
G = SEEE | AREel = aegel ar4® = careiey
T = el YTl = (&Yl oG = geifa
ST = ST HAE = “EAE @ = T4
ARG = FARGA AW = A5 T = &y
10. 99w F© FHE?
a) R g4 b) © &I
c) 8 Y4 d) ¢ &I ans. A

4F OEE IGUE G SEE FARTe
AP IGaM G0 B | @M 92 TG Ao
AN | T3 ATFF(EP QM G ORFAM |
11. ‘SEIoba’ *twa A [quomw (@afo?
a) 51 + o b) 541 + fo@
¢) 515 + fom d) 5o + o@  ans. A
Solution RS RSEIRCIRCE S« Rl - 5 G O I
TIADT TN @RCIAT @FAE g X

AR 9 A7 G0 G =W | (A3
e+5="% e + Bfaa = STHa@; v=1e + ba = v=1ftoa |
H+bH=% fae 4 foer = fa=iftsar; o9 + fod = sftea |
C+B=T Te + iz = Sft; e + (2w = TovgE |
H+E=T o + B4 = ORi4; o + foy = witay |
e+ G= BR + G = Bege; TS + GIA = AR |
T+ =5 fae + G = fereEee; o + &7 = S |
€ + A =G e + A = FGABHT |
T+A=Fa  on] + Agr= R

12. %3 &4 FfQ4r Fr2 www.prebd.com
a) CTITE < b) e
¢) *TgTel I d) ¥ @ a4 ans. B

Solution: JIGIBCIKIREC SR (i r Gl ElC BEa)
WS | A AETS! ZCElS

I SrENE TS I *[%q SHEY TGS Fd
G G TS AZR S0 @i qqd A4 Fa
13. "0 TE AR GANT T (P FEF?
a) FABEF b) AW FEF
¢) TRV FEH d) 9f4Fa9 I ans. D

Solution: BRI ISERSRSI G o BT I IoS
E ONE AFMEE  SEIfgFaS 90T @ 9

HFE W AMZ (FCEAT @ GO GFGCT) | 0
Y ANEZ | (T @ AT GF L) | AP

517 TTITE (SFICHA (FICAT 4T L) |
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14. TEE T (T IR @ [qoiE?
a) FIECE W [of& b) FGES 47 e
¢) FAIFACE W [FofS d) @62 79 ans. B
F I | FeEE W [efed s
TARRA (ST T3 TS TIF | SANCE GFAT
32 VI8 | ARG G 2957 | e,

T = farefae == EEI
Zifiv 4% 7S | zfim + o <
A A G 2 49 2 1+ R Skl
fourdics fow vre feurdt+cs g
il (WIS 9 AR GhI+TS reasl
ST AN 2 | S + 9 T
for tom 23 | f&F 9 AL
15. o2 @mit oy s73m
a) 7L b) (AMT
c) (veI@d d) S ans. C

Solution: RelEnic i niCEE Lo I E SR EE R
AP FPELHIS G 2 1 ©OfeF fopmpy
T | OMLEDE AIITFEE W AT AR @
QateE O [V 900 T | @3 O+ QN =
ANES; O R = JREN; YR GR TH =
AR | OFole (T, oA, AT@d, FEeA,
qoed, dAFTRd, SHERd, 3WRd, o,
(SR ATHE (1T e AR of ferey ST |

SeET = 2ie A T (9% ) |
e = SWLa W{Eaiﬁlwqm) |
S = SCAT 8 T9 (%% 74/ |

16. ‘A3 S == @o?
a) (b b) =iy
C) FNF d) o=@ ans. D

Solution : BRSNS RN SR CFRCCT NS S0
I, RO, o, ey, q@, @, qEar, e,
ﬁiﬁm G-, %‘rn@tﬁw

Wbl oy, TR, TG, i, Cel, g

e, TR, g9,
G e, 34, IR, P, czw, famer, faaer, #94a, T@qne |

17. ‘A *twa o=t 2El-
a) b b) (eI
c)"f‘il"Fl d)?_@?{ ans. B
Fﬁmﬂ DI Fﬁﬁﬁ‘l‘lw

bW, FAILS, A4, T, <0, <, fZrs, fag,
fmirea, omw, Prere, suifafe, Feafafy, fZuea, 39,
gL *[gwel | B, ATl S, %E , WA, T, A6 |

Pl B, o0, P, Nefa , T, 4SOk, T |

SN




18. T T W GF FAR FT 072
a) Py b) v e
c) 4= d) IF ans. B

Solution: [RRES IR RIS

Y] = 1 9= ey w4 eI = FTI

FTNC = q 971 T TE = 1 99 TE0E

19. 9% 93 fAeigs 9 @Eio?

a) oY b) ™
c) oE|l d) oral ans. A
TR T O Fol =0 B | ST,
| faorg et faeray farre
25 I dies qfawral e
witawy Wiy L] TGS
Sl g sTd bed
el NS apd 25

20. @ 9T ROy 8 {6 2itid A @ W@
fefes T a2
a) TRCAGH b) STEAr
¢) AT d) wepref ans. D
Solution: KISIREEERCAS iR s Gl RIT]
Aq FCO, WEE FACAT *% [Ofea F ACH
CISTANS Fo7 T AP T FHL5AY |

21. ‘A bolt from the blue’ IFHT AT IR
ST (FI0?
a) TCOl NG Srel 04 7
b) «fata= carer @
¢) a9 e qgeire
d) uferte ofe w2 ans. C

‘A bolt from the blue’ AFGa o e
S 20T 9491 (0T Gt | ST,

A barking dog seldom bites = Grasp all lose all = fe =S
ST ICE Srel a0E A oIS w8
As you sow, so will you reap = A stitch in times saves nine =
@I &, (S T SR OF (G STI0EE W (IS
Danger often comes where While there is life, there is
danger is feared = GITC 0T hope./ A drowning man catches
oY @2 9@ =m at a straw = & H[F TOE

A gain beyond expectation = To gain wiﬂ:‘:t spending =
(9 = BIRCSR &= T (ST TR Sren
22. Iy ==fo e e
a) ofefers b) &t femt
¢) Fi forer d)Tea ™  ans.D

Solution: JeSlCRBEISIEcHQICic o Ray We ek (<
CTFE o *7is ToF o wea (73 2 | @9
A, fore, sieE, e, o, SaE, 95, g,
2o5iw |
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sefer 4 @ =% 9E YFE Gherd @RI O *RFF a1
FIGEE @ *@ B 94 § @ierd @RIE ONS e 4
Frave =@z | FavS = 90 | @ W, G0, RT, (T TN |
Srafe a1 @ *1% =] 2@ 47 I GIST (FA] “HFe 7 gty
S amS =M | (BIA 98 41 WAE @RI SNE SEEm 90
HfeFaS *% 401 | (@ 92, 41, (6fee, 5,
w4, #iifer, <2 TG, 9% Tonw |
23. N7 W 9g-
a) TR 3= b) (T 14T
c) GeTell d) qrerg ans. C

AT Sifed 77 | Sraer, Wi @F HAfEw [oew
(I8 A + O (NFR) |
24. @FGT S F IGF 2 TE IE GG FACS
=72
a) IO b) i<
c) arer d) IW*IR ans. B
FOLE JFTDS *HA A FABSF =1
oI FF JAS * e =W | @N FR-wEE

FQ, CISE-2e OISR, STo)-NZe 5 29017 |
25. BTN 3o RS Ir I

a) NS GRS

¢) NS d)Tsfieas ans. D

Solution : eI P EICH LI I B IS ICT (G A EE NG
JCET | QAR ¥AF > *4eT; & > T AENE >
ARG SR > GFel; T6g > Wedel; a5 >
T TR (SR > ETRF L1 |

i LS TS | (TG FSI-FG | A5G |
FArSqT *FLTY Hib [Sf @ GIF WA O WE-[aed

TG e I | & AAEE T TH ANSIT 41
Assimilation, Tare4 S GETEOS T ZH | (T
G > TF; F9 > FEG 951 > 95 Tew |

26. ‘Pass out’ means-www.prebd.com

a) die b) faint

c) disappear d) cross ans. B
27. The police is looking __ the matter.

a) into b) on

c) to d) at ans. A

Look into WTH (3 fqacza ©vie & |
G “{fem matter 97 fTe909 owe FCaReaT= 901
Look €3 “t& Into =TI | SG@, Look A
fNGAM® Verb @& X0 ATE |

Look after — (RIS %4
Look back — &ere faras=i 41
Look forward to — TS(Z &SI 41
Look out — 5o¢ 2&q

Look down on — 9T %41

AT O e [T F ove FA0E |

Look at — SIF[TAT
Look for — ¢arar
Look into — S9& ¥4
Look up — 40& 4T




28. The phrase ‘Man of parts’ means-
a) honest b) sincere
¢) talented d) worthless ans. C

Man of parts = talented = @l & |
E gfae T WL Parts SR GIR SPIET +
Talented.

29. Select the same meaning __ pragmatic.
a) wasteful b) productive
c) practical d) fussy ans. C

Pragmatic/ Practical o4 RN LA
R4 | Wasteful =€ S#€581 | Productive =&
TeAMRI=T; B4 | Fussy o4 0057 |

30. Antonym of ‘Ally’ is-www.prebd.com
a) friend b) child
¢) congested d) enemy ans. D

Ally s 3o a1 f@az amr warm
g7 41 | Friend %€ 9%; @ | Child o€ sr&me
9 TGS NHE*e; TR 1 11wl | Congested
¢ sifes@r 74; fOUI@® | Enemy SI€ *I@ |

31. Had I the wings of a bird! (make assertive):
a) I wish I had the wings of a bird
b) I had the wings of a bird
¢) I should have the wings of bird.
d) May I have the wings of a bird. ans. A

Exclamatory 9% aW Had, could, were
[l W T SR ICHIE AU 1 wish I
«J Subject (& Verb @ 24 g7 ¢4 8 Note
of exclamatory TR M Assertive I 04
00 27 |
A W AW A AR TS Tl A |

32. He got ___ his illness in two weeks-
a) on b) by
¢) with d) over

Get over € SCA] 71 F4[ |
A T (T O @™ TS Y2 ASNEA W4T G

TR |

33. My uncle arrived while I (cook) the dinner.
a) would cook b) had cook
¢) cook d) was cooking ans. D

YOOI R While 559 Sfel @RITS A0 2 |
©I2 While I was cooking (R |
T T ANE 56T O (e T4 A
AT AT FARE |

34. He advised me (give) smoking.
a) giving up b) to give up
C) in giving up d) from giving upans. B

ans. D
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Advised somebody to do something 2052
Appropriate 9<9=€ 1 W& Smoking «HfG
oo A OfI FECO F (give up). ToOdR
AT ¢ APTS S (WS T Ted 2 A
b) @9 To give up.

BUSIERCHRSITES DI UG SISO E I (|
MR |

35. There is tea in the cup.
a) very little b) any
Cc) very d) many ans. A

Countable noun @ 3t @ 9td Few 979 2
1% @%% otd Uncountable noun &7 AT Little S

Very little.
T o3 T M 5] ST |
36. The old lady cannot help ____ a cup of tea.
a) to drink b) take
c) to taking d) having ans. D

I & (@il oz 1 3 2 7 =g Can
not help @& 1 %4 i1td 4 =1td Could not help
0371 914 #Itd Gerund (verb + ing) 907 |
I 9P o NG GF F19 57 71 907 #Aa
OIN

37. A true patriot can die his country.
a) for b) of
c) in d) by ans. A

2R Die for = (AT*A, Gifed, W2 (FICAT FEA
G SIrroyTs T | BTy,

Die away HAeid ARpe 6N 41 f=T123T Arew
Die by oA, SRS, T2, ARG
RIS
Die down vderod 2edl
Die from FO, TN, A4S, A (T
fewa faeifomeet Sm@r arear
Die through SRICY T SRR € AN
Die in P, M@, YOG W4T, =R,
T Y Lgfore A A
Die of SRSl , AT, 9T, (AT NI IS
Die off GTF T T4l qreA
Die on Tt , foee e s arean
Die out TLE]@ ql STy e
Die for (T &T1od 2R (FICAT FICEE &)
SIS IR

I A GFG &FS (TATF M G Ol
G ST FACo AT |




38. What is lotted cannot be blotted (Active)
a) We must be blotted what we cannot lot
b) We cannot blot what we must lot.

¢) We must blot what we cannot lot.
d) Must be blot we lot.

39. Lingua franca means-
a) common language b) maiden speech

ans. B

48.

c) Metro rail i1s greater than any other
achievement of Bangladesh.
d) No other achievement of Bangladesh 1is

as great as metro rail. ans. B
The synonym of ‘Franchise’ is-
a) charter b) licence
c) privilege d) all of the above ans. C

¢) second language  d) mother tongue ans. A\ YA H Franchise — (B9 (71 I o1l FoF oG "ﬁ

Lingua Franca =¥ 319 S4&Ced J59210aa

SIET; W4T ©rFT | Ok 0T Ted 7+ a).

40. The work is to be ____ immediately.
a) do b) done
c¢) doing d) did

41. The word ‘Garrulous’ means-
a) wordless b) talking too much

c) speechless d) talkingless ans. B
42, % IR ST ST IR (S0 G |

a) Think before you leap.

b) Look before you do.

¢) Think before you do anything

d) Look before you leap ans. D

Look before you leap @t <6 eqm
J%7 | IR YAV it SdE 220G Sgam 2Tl
Strike the iron while it 1s hot ¥4I Make hay

while the sun shines.
43. What parts of speech of ‘Fatherly’?

a) adjective b) verb

¢) adverb d) noun ans. A
44. Your clock has run___.

a) short b) good

¢) down d) up ans. C
45. The noun form of approve is-

a) approof b) approveness

c) approvalty d) approval

R0 Approval (SFEGM) |
46. =20 @O wIS-

a) Cut the line

b) Cross the line

c¢) Give up the line

d) Pen through the line

47. Metro rail is one of the

correct sentence.

a) Metro rail is a very great achievement of

Bangladesh.

b) Very few achievement of Bangladesh are

as great as metro rail.
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ans. B

ans. D

Approve (SCIM= <4) €9 Noun form

ans. D

greatest
achievements of Bangladesh. Find out the

49.

50.

eifae SfqEE fAriee enifees; e SfaeE
(VAT | Privilege — [0 SIf4<TE | ©=47, charter
o SESIE W, Fa9; Licence € (FICAT F&
T Sprer@; e Far Saafe; w0 |

Choose the direct speech of the sentence:
She told me to stand up. www.prebd.com

a) She said “Do stand up”.

b) She told, “Stand up".

¢) She said me, “Stand up”.

d) She said to me, “Stand up”. ans. D

He said that he ___ the previous day.
a) has come b) came
¢) arrived d) had come ans.D

Reported verb fG Past tense @ A Indirect

51.

speech @ Verb G Past perfect tense € Y AR
Direct speech ¥ Yesterday 4I<C<T Indirect speech
¢ The previous day 901 |

TR L T 0T @ G TOFT G |
wifsq, i ¢ femitag o™ v S wifkq,
AT ¢ NPT FEW ¢ ¢ =29 I | e

I 0 %9 (A femicea 9391 o7
a) 0 q%d b) ¢ 924
c) \Wo 929 d) v¢ =9 ans. D

Solution: EIERGIEEREIEDRRIFTaE R Ly R o

52.

IR #144, AR 8 oMt TWeE 16 =F + ¢ I=8
@2, 49, A2 @ femiea (I6 =0T

=O(F + ¢) = 9F + 3¢ T=A......... (i)

SR, Fh4, AR 8 *a (6 931 = oF 924
PR (G FEPT = OF - R0 ... (i)

(i) - (ii)

OF + 3¢

OF - R0

() ()

W 9397 we =4 |

720 WEE 9T TRYT LG, do GR A2,
3¢ TE, TS WEEE AW (6 F© &7
a) L b) a¢

C) b€ d) ¢ ans. B



53.

FIF G AT G0 FIE IS do M G
s¢ e 3900 <t | oI WtE I Fo e
PO ARE?
a) 8
c) Y

b) ¢

d)q ans. C

Solution: JEIRIES

FIfF G F1E BT Yol |
ﬂﬂ%)ﬁﬁﬁﬁ@mi o |
e 6 F16 I ¢ T |

.. ﬂﬁﬂbﬁcﬁww%ﬁml

54.

Se9d FifF 8 Afes qr@ > W a8 FeEa
> > 9+’ ¢
Ty M T wo T wo

_2
Y

Wﬁﬂﬁaﬂmwiwwmsm|
31 @ U GFea FET > A1 774 S

Y XD
== =y WA |

a6 T 6 T 80% @I AN 8¢ o
@t T S A G e T AR
g 97

a) be¢ o
¢) a¢ b=

b) 9o G™
d) vo FGE

ans. C

Solution: KERSHIE

55.

80
Ql“ﬁ‘ﬂﬁ,xnﬂﬁ}m+8¢—a

2x
5+8(t--.:lr

X _
X — ¢ = 8¢

Cx -
@

8¢ X ¢
X=""9 = q¢ 559 |

= 8¢

amwski%wwmswﬁﬁ

Yoo GBIl Z(Q?
a) Yoo b) 00
c) Yoo d) 8oo ans. B

Solution:fERIRS R CIEI S ERNSRI S

TN =8 9%9 |

Ad TE = b-}‘% %o =3.¢%
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56.

¥4 G, I= prn

P x.¢ x8
Soo =
yoo
o0 =P X €O
Y00

boozg
P = 00 519 |
¢ BT vio o & o ¢ B oft o [
FACET o4 IO GIF] S 2(H?

3 3
a) \90;% b) m;%

5
C) O % d) o@% % ans. D

Solution: LRSI ERCEboIEN AT

57.

—

b%W@@fﬂ:%W
[, Ot S R = ¢ B
>ﬁ’i‘wﬁ@m:§ﬁ‘m

¢ ¢ _Qﬂ«»b&'_&
Ao = @-b,)_ % —QB?FH
e
28
S[OYq *OH[ #M® T = | = x 300 %%
v

(g b b
=(Q—8xg—x§oo)%=@ﬂ€%ﬁl@

G0 G 7Y 8 AT TGATS ¢ ¢ S | T4 Al
I A e v it @ = e A

ﬁﬁﬂﬁmﬁfﬁ?w.prebd.mm

a) R b) ©

c) 8 d) v ans. A
4far, qrea “Afwe ¢x Fo=

G Afe wfqe x = 6=

HEACO, Cx—x=V

8x=V

X=R

i “fiferg “ifasrer & o=

b
Shortcut: RIBEKIEDIEES g X Yy =2
58.

x4+ 6xYy + 1lxy? + 6y° 99 T fAToa
@H0?

a) (x+y) (x+2y) (x+3y)

b) (x+y) (x—2y) (x—3y)

c) (x—y) (x—=2y) (x+3y)

d) x—y)(x+2y) (x-3y) ans. A



OITL R (73 ST, x3 + 632y + 11xy* + 6)°
= + X%y + 5x% + 5x0° + 6xy° + 6y
=X (x+y)+5xy (x+y)+ 6y (x +y)
=(x+y) (% +5xy + 6y
=(x+y) (% +3xy + 2xy + 6y%)
=(x+y) (x+3y) (x+2y)

59. x =[5 +/4 W.rz+$u‘l§ﬂﬁ?ﬁ%‘?

a) 36 b) 27

c) I8 d)9 ans. C
Solution: FEAERENE!

11t 1G5-44)

N (5 VAR5 )

=\

Wl ST, )cl+ (x+ )—ZX.rx—

- (43 i 3 -A) -2
=(25) -2=20-2=18.
60. 18(x + y)°, 24(x + y)* @R 32(x* + y*) @9
F7.8. (FHG? www.prebd.com
a) 2(x +y) b)x—y
C)x+y d) 2(x—1y)

Solution FREICIEEER%
=2x3x3x+y)(x+y) (x+Yy)
3T A, 24(x + y)?
=2x2x2x3x+y) (x+Y)
= (.I'-l- 3) (1—3)
oF A, 3202 + y?)
=2 x2x2x2x2(x+y)(x-Y)
QAT , AMST SR SATS 2(x + )
G2 AT AT 9O 2(x + y)
faeefa s ame, = 2(x +y)
4
61. (—27)3 9T T F©?

ans. A

a) — 81 b) 81
c)+ 8l d) +27 ans. B
4 4 4x3

N (—27)3=(—3%)3=-3 3 =-3*=81
62. x?~ 9" Ixx1 )" x(xrP)" =y

a) 0 b)p+gq

c)g+r d) 1 ans. D
63. logiox = — 2 (M x G qF 9?2

a) 0.01 b) 0.001

¢) 0.05 d) 0.005 ans. A
IR C7al ST, logiox = — 2
= x=10"2

1 1
X =102~ 100 001
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64. (logiox)* = logiox* T x GF T« F9?
a)1,0 b) 1, 10
c) 1, 100 d) 10, 100 ans. C
65. @I SerwE@ A 8o fbH| @ oY ¢
o= ==, dy 3@ it 2@

a) 53¢ b) R0
C) R¢ d) wo ans. A
@ AZ, 9F6 ARerw@d AN 8o
7197 &3 ¢ o[ |

2ENTS (I + &F) = wAfFs

= (MG + ¢) =80

— MY + Yo =80

= IWMT =80 -do

= 99 = vo

S MG =5¢

66. < P faprea TECEM 92T 0o° «R
vo©; fagefba e foqfba Sgare Fo?
a) > s\fo 8] b)d>3w34/R
C)98389 d)dg9ws ans. A

67. (I J0&F (T (AT G(6 BICAT (7Y (1 00°
ZCE & JBHICAR Y (IO S (PR T 397
a) d¢° b) 8¢°
c) ¥o° d) ae® ans. D
68. 5 CBfoE, 2 GifBRTR, o EfFERtR k 8

cefER gRAEE Rl cre = w3 fags
GRS T4l ANA?

a)d b) R

c) 9 d) 8 ans. A
69. ¢ CIORBE JPIRHAE e 7 AT 8

CIBRGR IS & O3 g F© GIFBIbR?

a) 8 b) ¢

c)~b d)q ans. C
IR st fagre, (Sfoge)® = (Sfin)? + (71@)
= c&*—(‘ﬁ:)ws*
= ()p=w->d=>5 O

= = v Ffi.

5
L AT =9 +9 =y @M /‘
70. 436 IfwF@w I|I WG \n\_/(l/'?i

WWWWWWW
7 fefE?

a) Ry b) Yoo
C) DO d) 280

Solution: Wﬁs‘f— \fb- +l:r be’

mﬁaﬁﬂawmw

= (3 = s3v TfEE
(I AG): = b2 + b = M (FChF T
S%e ICHET CFaT |)

ans. A




71. JoST (AT TABCA SRS (Freife?

a) g b) SR
c) ST d) &gmeeel  ans. A
B
2N
"/ VA

Jeed AfCE 92 O O FACT (®E AHNF
TGP O AT SR*CE SIS qCE | TABICA
SRS (P Fa 209 | fora O w2 e
ABC T#517 @3 ADC SIf4BI# | THBLo ©od
@F1eAr a7 B 951 Z ABC =0 T |
72. @36 WTSCH@T MY 0T (A0S | CFaT
2 FRACE 2=, ©F Al o o=
a) RO b) 8o
c)%m d) vo
*dﬁf FH(od &Y x PoE
T 00 5 ¢ R
ATS, x X 3.6x = WY

= 3.2 =Y

2 _ Y _
X 5&—}:38

= x=1/388 =1/(3)*

x:b-l
e Ta57 23 > 6@
S, TE09 A = 5.¢ X SR = b o
Sod , 9aiod A = (T + &¥) uFe
= (O + D) UFF = x Wo = Yo 6 |
Shortcut: [N ErE S RS
— 23 x 3. = S

ans. C

U

e Y
="\ o — \[3e — R
AN = Q (A + &F) = J(3b + 3) = Yo

73. ¥4 =83¢ YR 4N =92 THE FL =
FO?

a)d 83 b) 8¢ b

c)a3sdo d)e3v ans. C
74. — 2x* + 4x — 5 QB L T FO2

a) — 1 b) -2

c)—3 d)—4 ans. C

75. PQ @4r*te R ore aueng seffes w1
2+ @& PQ : PR = PR : QR ¥ 949 PR >

QR TS F©?
a)l:1.618 b)1:0.618
c) 1.618: 1 d)0.618:1 ans.B
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76. 9T DICETE (NG 362
a) .90 &, i, b) w.0d . fil.
c) 0.0 . f. d) v.00 . . ans. C
Solution: RESERIICS ISR o IRl cr e ORCN
oo | Siea qifdey 994 STRREE ST
G T Bread Smee e (oF 20T FAp
BIt=1 41 qorqg BICeel | SOaAltd Il T
e Ao 20ate (eeid U HaF BIeAe |
@ BTG BIF] a1 RF b SRET 09 I |
77. IARFCACAT IS I-ArA (I CEel2
a) GOl b) ST
c) bmeE d) GRIET. ans. A
(TG A IR SRES  AEACE
IR " (O | G2 Al PR W WG
JIREC A+ | BTy, IRFCATI @
SATZST B CHE |

78. (I AN eqmar 1 PHICE af* g sz—=

G IO (€] W Fd?2www.prebd.com
a) V7 2CFFP0 b) e T3z
¢) Wy e d) TG ans. A

79. IETCACIE FT ARNRE SFEa STRTOrSIar
T (0 ?

a) O[S b) B9
¢) A d) I&91g ans. C

AT TR TG SRS oA
i wooE anw fAfife ztm #@eom
e e &g | Fif e 9@ ars s
FCACTT (FIOPT) R oFgc IRBATT FACR |
APY AT (N6 50 % FAFAR FACT AT | FoA7
FARNCRE gacg A e Tefqe s F © +
et (1 =P EaEe) Tofof=E s200°
T RS e TIRE F4 A | AfSG S
Z[EGE 00 GEINSHG o[ Yo 2846 o4 F4l
A | 09 I G AN [0 G A 9=
o41e 2038 A fTora TG b 26AE F7 | G2
faure @y Bl Yo 929 fayye Tesive 41 A1(q |

80. SRIYGIG (I 114 OItA NAYS?

a) FCATSTH b) T
¢) 9T d) SR ans. D

Solution : R IR T EG BT e I (a0
TAE 25T St TZYFANG, T AT G € @
A A AEGIRl 27 | S 9 A ™
fo ‘ofgmod | RATITT QG 1T HIFfors
(AR T4 e &ibion e s Qe sfrea
(51t |



81.

399 A Jfegra ROIE T[T & (@19 42
AT S TAfirs gfis w4 =

a) N f4fq ¢ wEEr fafq

b) CTo[l @ 8 S 49

c) SR &9 8 Ere™r @9

d) wEr a9 e s & ans. C
O e SPINEy Sl A4E & e

TACE FONF (IO LW T4l 27 | Ol 20
- Yferaral s 4 gar eromEm @0 | S
a9 d3 CIRE Fa FCa G ETOET (@ 72

CTR0a o A |
82. SARAF FICM TSH
a) Flecad b) Acawd
¢) DI d) Vg ans. B
SR ATACVE T FR -(NBIF TSR
ERGER gCir|
4908 | SR Y -0 T
CINIES HRER ST GRS
SR STRENR 317 g e =i
BT fag ESFE , @dqla EIETIEY
faop/foerr | e TR TR
SHH] fag @ SICAZATS
S fag ferame =2
frgme STIRET il F49 91 FEN
@a18 ST =T & 41 FE
83. FTTAT L AVIEART TF FI?
a) 999R T b) 599 AT
C) 9598 G d) 53 3t<T  ans. C

OITITR QECwee 29s WSSl 28 So-db (3,

84.

>998 M | IRFACACH @ 78 IAMASHF TF Y 94
D598, dObD, 55, 00D, WY, R0 |

IHOT 7 A WA O A2 www.prebd.com

a) dvo¢ b) 33 AT

¢) S50V I d) 505 & ans. B

CTELE S50¢ STTETR S, STRRE TS FTE = (A

85.

TGN FEFT B qrex | AGqee 29
GrOMSRIMe OiF StvEed @fFre 33 ferma
Y9 G 1T e Wie wadna I ama
T (A | @ (IO FEFT T d9IR JEF R0
SR |

fqtoe W FHifore e e o s
EX:k

a) > Wl b) 2D Wl

c) L UEl d) 8 w=l ans. C

Oy e wifes Ifeq Fm A qmmem

WEIFGT 971 2T GfoZF T W |

T Off a4 | ¢-Y CEFEE dpby A

e fqum fdmar G
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Ty, ez B W'y 3fde wifqeter 2o

o). HewM JGALE AR | ol. (FRT FESAd S T 716 |
WA  dated vaeEm =@ | GEw A, dfeww e A9aE
TG (Sioif4enad fofars arg | w@aem | wwFy e e
EAd (SN6 fFpd wgpe | SrrEErerEE 44 wael A |
A |
o9, IETH TH EENd | o8, A &FE T4 4 T
fafeamaiary q'qata 91, 1 =7 | Fwel A WwE  Taenad
g =6 AMerE 9F2 qard | 0o | SeefEe SEaEEg G
TG 5= 41 | Wmﬁﬁﬁwm
FAAFEACE (WSAF 4] 404 |
oC. THAGTETE FLELid ES | ok, SHAGTEENE S
(A e Wifee zE, <@ | e e w@g et iz
fdifae S O[T @WiE ¢d | 1o T4 FAS] (RS |

86. TEgEE o9 (ifefas raida-
a) TU b) el
c) == d) GTEET ans. D
W REqEz 20 ERE fofee g TFe=3
GFH0 AGASF Vel 8 FHF TS | Werod [&am
JICHE TNE ANGE. R G @0 T W

@PTOI & FINS AEeArod =TT qCACE |
87. G AFTCICH I Fi?
a) TIIb b) FIIG
c) Tl d) TIEE G ans. A
Solution: KIKIGE Wﬁiﬂ‘@tﬂﬁ’l
S ol 2 ol
a“raam GO LM BTHFT @b
TR Grory 99w EES TSl 41
41 e AETHS]
TS IBIMGE GES TS T
PSR EElEER] go g
TR T 7z T
P ERIET AT (CarE (FIF0
G A1 AL fereeTrst

88. Tl KTl 203y @RI SP® 232
a) TSAZ, I, (MHP!

b) (&Sl [l T, FI
¢) forzmT, wREaT, cofgge
d) o ?Fﬂi” CIEGIED ans. A
| 0OW fFE el Foe 03y TGS
LI
R VISR 203Y
5 16 Yo 6, FAIEI @ I dolo FLa NG
?ﬁﬁiﬂﬁ\wwwmﬁl
W SREER T 8vTo
89. SDG GINSTRITT FOON FYE AT RS Z7?
a) ¢¢ ¥ b) 90 ©F
) R OF d) @9 ©oF ans. B

205¢ TG ¢ CHFF GINoCaa A4

9 90 OF WL SDG 2I® = | (G2

%?:F{ TRN@E  SEPEE AN =

Transforming our world. 0o FACFE ACLT GEY

TH @ TN s SEeE A

giforaeg®, 193 0 ™ The Sustainable

Development Goals (SDGs) @9 @2 yfere

IFE 04 | Sy SDGs aF (&F =5 17 6
G2 =@l 169 5 |



90. RS YT T P12
a) ferr b) AT
c) A d) faefe ans. C
Solution: RIEGIEER G ERCIE IR PR € B I E R GG
I fefre | ©reey, warEd YaE A e’ @@
PEreEa J/E TN TR | SRS 8 TaeEd

T <N ([T |

91. 09 A S LI FTFF +1© IFEF (F?
a) OISACH FEAAE b)) NPT (=Ml
c) WEET 2SYE &2 d) Fifas 93t ans. B

209 I EACNE W@ WAerE &eecm
GR IEE GO VFIEFE 8 o[ FTCIRT
IRl (239) |

92. IMF - &9 5vd e (FIA?
a) S5 T b) fAeaaE
c) C&tTol d) N ans. A
IMF @q <& = International
Monetary Fund. @t -3 TFIR 3588 IS
8 T mMREs @5 TerE Wes  SIf*RET
@G o 8¢t (e afefafaraa semeae
RIS H&d N4 Seefos @ ©=f<= ar IMF
afed =8| @ & SpfEerd e =7 21

fCr™a 98¢ A |

93. SIfSTIEa AN THMDY (F?

a) T-UG b) Gorce=it
¢) ViITs (TS d) &TSTT ans. B
TforRres o9 WErihg . Gorsh

(558Y->5¢R) | T4T, Tifesrad faorg T2Ffva
i CRNECAS | qREIAe e (Yferad Y
G WRPIdE e FewE Re*ge ©-
A6 | fofv fereim wiforted woR =PI |
GITORCTd FoN 799 _T2PIod AT Foifee
“STCOIS STOCa |

94, RN (SF BRAMCH MCH I (712
a) I&AZ b) Fe=<ren
c) 34 d)Fim =Ed ans. A
T WIS (o1 ST WY ¢
(M R ISAG, AR, CT SR, [F aR
FECT |

95. ‘@12 (@FUR e Foa @HT AN FTELE?

a) ANETO(aF b) CL=TIET
¢) e d)JsaEd ans. D
| (<1237 (FIIE AT (TR M& @3 GHfo

stafos Gyl 41 “fara @4 i W 4
e NEFHET T DT WG Fawed
APl TRCFEA qifetace aa-4ifaey ¢ fafesa
BT |
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96. (PR SFRIY CAMIT F1?

a) Y &A= b) qifaeire

c) g Cre d) IF WSl ans. C
TR SAMEe TN AR, Ao

TG, Y (ACF THOl, TFRH | Aol 2917 |
97. & 518 Rwyic It e

a) Horticulture b) Aroboriculture

¢) Floriculture d) Vegiculture ans. A
ARG |, AN T, T SAMCE

faIIts Horticulture 30T | ©C&747,

Arboriculture 4 TEd ©F 29 GIET4 (@ ¢ Afapd
Aquaculture AIfTS AR Efew 51F
Sericulture T I57Y
Pisciculture TSATOTE, ArebE
Apiculture cefEs 518
Viniculture/ CEGRIE
Viticulture
Aviculture AT
Poultry farming ZEA-FER AT
Husbandry IfaE

98. IRFCA ST IN o IR o
(FHG?

a) ©e-APEY b) W=

¢) WrFsl-#{f5x d) g o6  ans. C
99, TCF Platelet - 97 & I

a) O» SIECETH

b) RN &ferary

c) T GWb 4TS R FCA

d) e PH @7 N9Re I ans. C

Solution: REIEGERE IR IO S IR o R
FACO ARAT A | GG 9TF T[T *2A07
(AF ME B FN A | @2 HAfee 5IReS
Ao @ S (0T 96 GG 4TS 2A1TF T |

T AGHACT AF (7T (77 |
100.FToR (AT IFATOT SR AWH-LAFE I

T 277

a) TBECE0 b) TTEF

c) -2 d) 3BEFT  ans. A
GReEe  egfere wIEE A

FACOE (ACF PPCOLT O] SAWIH-ZACAa
YSCE T T THEEG | IBEAED GF *M©
fqregel F4te1 ©ItF International network @3
fFe F7 R sinewr T |
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